~

o)
Printed Name (W&t e ! D) Ve nre ilowins Tue ExAMS.
‘-.___‘_-____._/

Signature 1D Number. Sec
Math 33b/2 Hour Exam #1 4/26/02. This is a closed book exam, and calculators
are not to be used. Note: everyone gets 10 free points.

1(20). Find the following limits (include calculations!): N
a) lim ££2=L = . 2 o /
T 1—cosx L et - A 2
@) Te Taix T e mI e
2
3
L
-
b) lim =2z _ & T o -2
w2 T --—1—_-_—' = _rqz___ aw
-— .
) lim o = <02, &, e 1,
e amos T T T8 5
t /h-"—q S
5 i a0 7 L g1 e
Timen o7 T o =00

. 1 e
d) lim z% Lok L= Ao K. Thee
f=) [ 3ct-= e
2 .
e L B T,k
A a5 T o —T"" = O



2(20). Determine wh1ch of the following sums converge. Carefully explain which test you
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d) Determine where the series .52, (— 1)“@ converges {include a careful picture of
the points z for which it converges).
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b)(10) Prove that if Jl_rgo 2n = L, then z,, is bounded below (include a picture!).
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c)(5) Define: the series 22| a,, converges.
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d)(10) Prove that if 322 | |a,| converges, then ¥ a,, converges.
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4.(20) Find a constant C such that
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Hint: As in the proof of the integral test, draw the graph of 2 (1 < & < 1000) and consider
appropriate rectangles under it.
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